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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(ii)

(i11)

(iv)

(v)

(vi)

(vii)

Tyt go7 ST & |
J97 G&IT 1 - 5 T Jo9% J97 Ueb 7% & & | Y95 J97 & I 20 szl G
37fer 787 &1 F1eT |
I3 G&IT 6 — 10 TF Ycd% 97 g1 371 &7 & | Ie9% 97 &7 40 Tl &
37ferem 78T 81T FET |

J97 &7 11 — 16 T I 97 &R 37H] &7 & | Jod% 97 &7 IR 100 J5]
g 37 787 §7 =50 |

J97 G&IT 17 — 21 TF 9% J37 Giel 37h] #7 & | Icd% 97 &7 IR 150 Jec!
g 37fere 757 517 =fET |

FoT g1 21 FAEEE W STIIRG Fo7 & | 39 I T FH-JIawr
ferfea |

I G&IT 22 — 27 % Yo9F Yo &: bl H1 & | Y% J97 &7 IH 150 Fec]
g 371 787 Fl7 =TET |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vit)
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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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AfEAT TRAIRT shl 3T A S 1T S 3Tl shi9-97 9T ? 1

Which popular movement led to the empowerment of women ?

“TTEEYT TR h! TN TISE hHITT, | 1
Explain the concept of a ‘Coalition Government’.

sfiereht & ST Tod % 9N # fefaiad § @ SH-81 Th $9F @ 2 2 1
(a)  sftciert § ToHIfd ot dR T fgeht ot i uarer off |

(b)  afee o fgai S seE 6t St off |

(¢c) dfHc TR o foTsRSM <38 bl |Teh <30 hl THA Ted o |

(@)  sfictert § ToHifaes aamar T8 off |

Which one of the following statements about the ethnic conflict in
Sri Lanka is false ?

(a)  Politics in Sri Lanka openly favoured the Sinhalas.

(b)  Interests of Tamils were neglected.

(¢)  Liberation Tigers of Tamil Elam were supported by the SAARC

countries.

(d)  There was no political equality in Sri Lanka.

1977 ® SHIUE UTET hl TS o {ohell Teh HIRUT I TweiNoT T | 1
Analyse any one reason for the defeat of the Congress Party in 1977.

“gfyeft TewyT | T IR 7 2 1
What is meant by ‘Western Alliance’ ?

AT foew fifa & T8 w15 @ 987 I9TR HINT S 9. e J8E °
Fcaferes Tl 9 | 1x2=2

Highlight any two aspects of the Indian Foreign Policy which were
greatly influenced by Pt. Jawaharlal Nehru.
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HicH ‘A’ H ST T qeAT 1, W ‘B’ a2l § AU fHa™ HIT - §><4=2

PIcTH ‘A’ PIcTH ‘B’

(a)  gE{ Y=EW AISHT o ASHERR ()  dUS B

(b)  SEH % T Adl (i)  HITHT TgA HAH TG
(¢) Taad el & =t (i) .= AETEeE
d) TegHafeam wwar o gfddees (iv)  Hi wEet

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful way :

Column ‘A’ Column ‘B’
(a)  Architect of the Second (i)  Balraj Madhok
Five Year Plan
(b) One of the leaders of (11) Maulana Abul Kalam Azad
Jana Sangh
(¢) Leader of the Swatantra (1ii1) P.C. Mahalanobis
Party
(d)  Proponent of (iv) Minoo Masani

Hindu-Muslim Unity

T I h TEIA ¥ Tg Uiy foh dvdienwr I wra # afun dehfa @
wuTfera foRam 2 | 2

Show with the help of one example that globalisation has affected the

dress culture of India.

‘At "ugr’ % oW W el foheal OR fewEl ol &= Wl yEiEg
Hif | Lq=2

2

List any four areas or regions which come under ‘Global Commons’.
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10. Te-FUE TSI g 99 Tad ¢¥i Wi U T Y@ ANEH I AThe hivT | 2

Assess the main contribution of the Non-Aligned Movement to the newly
independent countries.

11. <ford g g 39e f&di sl sgren e & fou 1o 18 foredl = wifafafemt
U il | Ix4=4

Describe any four activities of the Dalit Panthers to promote their

interests.

12. 9Rd & forgl =) Y9 95R01 1 Icoig hIfT qem 3k ST TEEeHT o
fafer fSg 1989 9 1999 & = T HHR &1 =T R | Ixd=4

Mention any four Prime Ministers of India and name their respective
coalitions that led the Union Government from 1989 to 1999.

13. UH S IR HRh IR HINC A TYh Tsg e aiog § wra i Tomh
HEEdl < gTd <l 3fd & & | Ixd=4
Highlight any four factors which justify India’s claim to a permanent seat
in the U.N. Security Council.

14. TR@ sifd’ o foRegl IR AT T JeTehd ShIfT | Ixd=4

Evaluate any four benefits of the ‘Green Revolution’.

15. YA 9 394-3T19 I, GHI HERIGEAT < T § FAT AT @I ? 4

Why did India distance herself from the two superpower camps ?

16. <9 g 33T U UH TRl IR el I Arem i e I 3uehl
FAATEAT T IcAM g | Ixd=4

Explain any four steps taken by China that led to the rise of its economy.

59/2 Previous gathshala PTO.



17. = U TU H1ET 1 SAHYES eI HIT IR FHefeaiiad T 1 o 3T T -

(a) % I fohd <1 & Hraf-ad B 2
(b) 39 < < A1fdes fifqwi # G ¥ ‘o1 a 3TW TRl @ ufEdHi

TR ST |
(© 3@ W ® g AdHaH ufEddl & fhdl @ ufomE o meReH
ST | 1+2+2=5

Study the cartoon given below carefully and answer the following questions :
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Note :

18.
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(a)
(b)

(c)

Which country does this cartoon refer to ?

Evaluate any two changes in the economic policies of this country
from ‘then’ to ‘now’.

Assess any two outcomes of the latest changes that took place in

this country.

HETCTRGT 57 FaeT gIBRTIEAT Therferal & 1o7g, o7 G&ar 17 & T WE -

The following questions are for the Visually Impaired Candidates only,

in lieu of Question No. 17 :

(17.1)
(17.2)
(17.3)
(17.1)
(17.2)
(17.3)

ASEAN (3TRam) w1 foreqd &9 &1 & 2
eI T G 39 FaTsy |

‘s Al 9 @ S @ 2 1+2+2=5

What is the full form of ASEAN ?
State the main objective of the ASEAN.
What does the ‘ASEAN Way’ mean ?

= feu U Sradwor @t eaHgdes gfeu ot fmfafad wwat & 3w i

1977 % FAMEI I SHAT Ul 4 AUTTDIA o HU SHAA-HUTE HT &Y

fean | 39 aidf 9 gAE YRR § Y A % SAhdieh 9 3 ST
& SN 1 T8 fafire Samefaat oS fear | g AnTl Al IR i e
YRR I gseyfH § SFHa i o faeg o |

(a)
(b)

(c)

STHa-TuE w1 31 e il |

“ITITAehTA o GIH, &9 Al <hl TREHT 991 99 & Teie S8 e
AT o |7 T 319 30 HYT H Tghd & ? IIh H1E & Y&l T
oty # Th-Tsh I o oL AT I h gfse iU |

1977 % IATEl I WA IgAd ¥ Sfad o STeN[g, SHAT 9iel A Alg

gAY & foIu & a1 9 = @ 2 Toee hif | 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

The Janata Party made the 1977 elections into a referendum on the
Emergency. Its election campaign was focused on the non-democratic
character of the Congress rule and on the various excesses that took
place during this period. In the backdrop of arrests of thousands of
persons and the censorship of the Press, the public opinion was against
the Congress.

(a)  What is meant by ‘referendum’ ?

(b)  “Acts like arrests of thousands of persons and the censorship of the
Press during the Emergency period were non-democratic.” Do you
agree with the statement ? Justify your answer with one suitable
argument for/against each act.

(c) In spite of winning the 1977 elections with a thumping majority,
why could the Janata Party remain in power only for a short

period ? Explain.

19. = fou T st i eayEs ufen ot frefafea gt & 3@ v

SIUF H1 I 1885 H T AT | 3 Ik I8 A9 TIad, HEHST IR
TR S 1 Toh gard dqg W off aiferd sfied 9@t § 389 S oTigieH &1
®9 o form | 39 9978 @ SiUE 1 Th THAE T 91e1 1 &9 form 3R
TSHHIfreh SAqEAT H 3Eh! ol HIFH 31 | YE-YE H HIUH H 3USGl, TSI
i, ot HEAW a1 SR & AT T SiAarar o | e g 3 J9 ot
Gioma 3793 S ITeIAH IATE, IHehT HHIN YR 9¢7 |

(a) o9 g § A1 AU 7§ ?

(b)  TIGIAT U BA-Bd, HIUE o Uk AUl GHINS T4 & &9 §
giafdd g9 &1 SR T HIfST |

(¢c) <ol ¥& | HiUE Teh ATl Tk g il 4 T8 ? 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

The Congress evolved from its origins in 1885 as a pressure
group for the newly educated, professionals and commercial classes
to a mass movement in the twentieth century. This laid the basis
for its eventual transformation into a mass political party and its
subsequent domination of the political system. Thus the Congress
began as a party dominated by the English speaking, upper caste,
upper middle class and wurban elite. But with every Civil

Disobedience Movement it launched, its social base widened.

(a)  What is meant by a pressure group ?

(b)  Explain the reason for the Congress to be transformed into

a rainbow-like social coalition by the time of Independence.

(c) What made the Congress into a mass political party in the

twentieth century ?

20. = fu MU A @ ey 9feu R e Jet & 3w T

“Fa firEsd Hehe A Ig 1 = fog o1 | ¥id g wYh TS SR
3 Ao g qur 39 el 2w & ofiw sfagfear, o ot oo i
AGAT & &I § I @ | G § 37 a1 IR Font 4 it T g
1 &Y & T |

(a) ‘YUYl TRINTG g i 319 ¥as ST |

(b) ‘g fosd "ehe 1 AMd g & =9 fog % w9 H F&@ wHI ST
o1 ?

(¢ “foamurens gud off 3 Ig 1 TH HRO A1 |7 AT 9 HAH H hal
e HEHd © ? 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

The ‘Cuban Missile Crisis’ was a high point of what came to be
known as the Cold War. The Cold War referred to the competitions,
the tensions and a series of confrontations between the United States
of America and the Soviet Union, backed by their respective allies.
Fortunately, however, it never escalated into a ‘hot war’.

(a)  Explain the meaning of ‘hot war’.

(b) Why was the ‘Cuban Missile Crisis’ considered as the high
point of the Cold War ?

(c) “Ideological conflict was also a cause of the Cold War.” How far do
you agree with the statement ?

21. WRA % T MU THifas @A (98 12 ) 3 9= TsA9 w1 @), @), O,
O @ ® g0 et T R | A= @ TS SHed % R W3 USal
g T 3R Iuft ITR-gfeaert A 39k A AW, TN A g TSR
SHH TEAT qT TEf-ed 78R, i & T8 difeteht & &9 4 faiRgu

TN <Rl TS SR
<l HY-IET

graf-d 8 | TSI 1 I

(1)

(ii)

(iii)

(iv)

(v)

() 98 UsT T8l Afraiare sr1 REgR g7 o1 |
(i) 98 TST &l S W % IAqd, SI HFHIAT JGIeH T 53T |
(i) 98 TS S Fa shifa” | o g3 |

(iv) 98 T3 TSEeh! T34 99 2000 | g3 o |
(v) 98 TS &l 1960 % ek | 3Thrad St feafa oft | I1x5=5
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In the given political outline map of India (on page 12), five States have

been marked as @), @), ©), D) and (). Identify these States on the

basis of the information given below and write their correct names in

your answer-book along with the respective serial number of the

information used and the concerned alphabet as per the following

format :

Sr. No. of the
information used

Concerned
Alphabet

Name of the
State

1)

(i)

(iii)

(iv)

(v)

1) The State where the Jallianwalla Bagh massacre took place.

(ii) The State where a Dairy Cooperative Movement under the name

‘Amul’ was launched.

(i1i) The State which was benefitted by the ‘Green Revolution’.

(iv)  The State which was created in 2000.

(v)  The State which faced a near-famine situation during the 1960s.

Previous Hathshala
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T E. 21 & fow For question no. 21

WA T {T-AHRE (TS TR )
Outline Map of India (Political)
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Note :

22.

59/2

FH=TfeTRad

g

o7 Fae givanfaa ghemida & forg, 397 ger 21 & T W/

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)

(21.5)
(21.1)
(21.2)

(21.3)
(21.4)

(21.5)

SAfcrataTer ST REER fhy T H |fed g3t o ?

¢

A g S e QI h TRFT fohe T3 | g3 o1 ?
¥ 2000 H TEd g aTel TS 1 911 fofaw |

T o qd H fd 38 TS &1 AW foafan St 1947 § faws= & aw
Hean & SR Afeded H 3T |

g shifd & Gaifes AIf<d 84 91 & T S99 3 ? Ix5=5

In which State did Jallianwalla Bagh massacre take place ?

In which State was the ‘Amul’ Milk Dairy Cooperative
Movement started ?

Name the State which was created in the year 2000.

Name the State in the East of India which came into existence
due to bifurcation at the time of partition in 1947.

Which two States were the most benefitted by the Green
Revolution ?

“&g gEd AR 980 § Ul o STaN[E, WA o SThA TSI Sl % o4
Tsh Tgufd udl @ 9 g W R 17 38 wed & Hed A, vedl ggafd & Rl
@ el o1 Ty i | 2x3=6

AT

“Srp iR SgAeTdl §ETS 31K TSI 1 T Sfad 3ere & |7 Theal
I9YH ! GRT 9 HeM hI gfee AT | 2x3=6

“In the midst of severe competition and many conflicts, a consensus

appears to have emerged among most political parties of India.” In the

light of this statement, analyse any three elements of growing consensus.

OR

“Jammu and Kashmir is one of the living examples of plural society and

politics.” Justify the statement with any three suitable arguments.

Previous fathshala P.T.O.



23. 3N & dfed WIEWT Sl JHEM TgAM i foheal dF @l faveryor
T | 2x3=6

YT

areftertor <t feredl i BTt a1 farvaror Hifo | 236

Analyse any three threats to the global environment these days.
OR

Analyse any three demerits of globalisation.

24. 1975 H UTAHTA TvA fopu S o fohedll <fi Ig@ ron st avfa e | 2x3=6
areren

gfen et g0 e gere’ HEHH Sl AR i % 0T I8 MW fehal AR
el &1 I HIFST | 1§><4:6

Describe any three major reasons that led to the declaration of

Emergency in 1975.
OR

Describe any four steps taken by Indira Gandhi to implement the ‘Garibi
Hatao’ Programme.

25. TIH TS YT Uieg o AU wrRf ofit rert dewn & fu "reve % w9 H

TREATII B: AR 1 T HiT | 1x6=6
T
A sl GLET WHITT o Tohrgl i1 9 Heehi ol faveiyor ShifvT | 2x3=6

Examine the six reforms proposed as criteria for new permanent and
non-permanent members of the U.N. Security Council.

OR

Analyse any three broad components of the security strategy of India.
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26. TIH TST ARl g fohr MU fopedl o ST (¥ HIATEAT) 1 qUH

Hifre & oo i 8= Wt il Tatear g T i g | 2x3=6
arera
A 3T qifehed™ o o= fopegl i feanfea gei 1 avia hifvw | 2x3=6

Describe any three operations (military actions) launched by the US

which proved and established its supremacy as a Hard Power.

OR

Describe any three points of conflict between India and Pakistan.

27. ‘s NHY T = AN 3 2 Wik NAl & Torgl IR uftomd Al et
HIFTT | 2+4=6

areran
3req fapfia 2ot & fosbmm & folg o siaisdia anfdfs swawen’ (NIEO) &
foram =t Tyse ST | Afvess =R orelt # gur g9 % fore AT A
HIHE A ¢E Ug SIAUHS g 1972 H &arfad fehedl i gomi =l /MR

hITTT, | 3+3=6
What is meant by ‘Shock Therapy’ ? Explain any four consequences of
Shock Therapy.

OR

Explain the idea of New International Economic Order (NIEO) for the
development of Least Developed Countries (LDCs). Highlight any three
reforms proposed by the United Nations Conference on Trade and
Development in 1972 to improve the global trading system.
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